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STUDENT NUMBER/NAME: ...
What percentage of scores lies between 35 and 45 in this box-and-whisker plot?

05 10 15 20 25 30 35 40 45 50

(A) 10

® 2
© 25
(D) 286

The area of this trapezium is 28 em’.

NOT TO SCALE

What 7s the height () in cm of the trapezium?

(A) 14
® 175
© 2

D) 2.8

Given the formula P = R, what is the value of P, ifR=5and I=-37

(A) —225
®) -45
€ 45
(D) 225

STUDENT NUMBER/NAME: ....c.c.coiiiiiiiiinnnnnn

A coin is under one of these three identical cups.

Rachel selects one of the cups at random and does not find the coin underneath,

What is thé probability that she will find the coin under the next cup she selscts?
16:Y]
B)

©
™

o WIN N e

Corey has been promoted at his work and receives an extra $68 per fortnight.
His new fortnightly gross pay is $890, .
Wit was the percentage increase in Corey’s pay per forinight?

@) 11
B) 76
© 83
o) 92

In which one of these data sets does the mode and the range have the same value?

(A) 2, 8, 12, 12,-15
B 2 2,6 8 12
© 5 5 5 8 10
o 6 6 6 6 6
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9cmi;

c 12 cm
What is the value of SinB + Tand in this iriangle?

9
@ =

31

® =

© =

29

o

What is the equation of the line shown?

AN

(A) y=-2x-6
(B} y=2x—-6
© y=-x-3
M) y=-3x+2

9

10
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Rachel invests $10 000 and eams a flat raie of interest on her jnvestment,

The graph shows the amoun( of interest Rachel would earn over a period of five years.

Simple Interest on $10 000
3000
2500
f/
j i

2000
g /,r/
E 1500
£ i
—_— /

1000

-
"
o
500
. ’/
"7
0 T
0 1 2 3 4 5
Years

What was the annnal rate of interest Rachel eamed on her investment?

(&) 2%
B) 2.5%
© 4%
® 5%

The petrol tank on this truck is cylindrical with a radius of 2.5 m and length of 15 m,

Approximately what-quantity.of peirol can-the fank hold when fall2. . - - ..

(A) 37500L
®) 75000L
(C) 118000L-
(D) 2045001




11 ‘The linear graph shows the decrease in a person’s blood alcohol content (BAC) over time

12
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after they have stopped drinking.

012,
w 01
T 008
(=3
g 006
“Hon
=3
3 002
o

James has a BAC 0f0.07 and stops drinking at 9:45 pm Friday evening.

\

\

\

\

0 1

2 3 4 g
time [(hours)

At approximately what fime should James” BAC show a zero reading?

(A) 11:15 pm Friday
(B) 12:15 am Saturday
(C) 12:45 am Saturday
(D) 1:15 am Saturday

The table shows the number of people who made inquities about purchasing a mobite

phone plan from three different provider networks.

Network provider Nummber of inguiries
Optek 110
G-Phone 135
Teknet 80

In a survey of 50 people who made inquiries about phone planf;, approximately how
many should be inferviewed from the Teknet network’s shop, in order for the survey to

be valid?

(A) 12

® 17
© 21

(D) 30~ e

13

14

15
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In a five-number summary of this data set, what {s the upper quartile?
20, 22, 25, 28, 36, 40, 40, 42, 46

(A) 38
®) 40
© 4
©) 42

Students are asked to classify various types of data and Elise presents this table to her
teacher, ~ '

- Data collected Classification
Types of transport . Categorical-nominal
Number of vehicles registered each month Quantitative-continuous

Achievements of students in an assessment
task )
The heights of trees in a forest Quantitative-discrete

Categorical-ordinal

How many errors has Elise made in the classification of data column?
Ay o
3 1
© 2
@) 3

A stamp collection is currently valued at $10 800,
The collection continues to increase in value at a rate of 6.5% annually.

Which of these calculations would give the increase in value of the collection at the end of
the next 4 years?

{(A) $10000(1.065)*— $10 000

(B) $10000(1.65)% - $10 000

(C) $10000 + (1.65)*

(D) $10 000 — $10 000(1.065)*
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16 The graph shows the stopping distances for a car travelling at speeds greater than 20 km/h. 17  Megan wants to download a 6.5 MB file.
Her computer’s transfer rate is 4 kilobits/second (Kbps).
240 g F , ,
r ;'g i L Approximately how long should it take to dewnload Megan’s file?
220 &g o
g 3 T &
- T 71T 5 L {A) 2.5 seconds
200 ~; ' T A Y F c?@? ;é (B) 13 seconds
] au #uN
180 Q‘:\ A (C) 25 seconds
; : : (D} 1 minufe 30 seconds _ -
160
- i u - .
@ 140 18 The numbe:r of sp elLing.errors found on pages of Jackson’s draft research assignment
3 I . are shown in the following table.
g H REm T
'-:g 120 H e Number of errors Frequency
& 100 . 2 6
8& ; : ‘ _ 3
& 8¢ = u 4
60 : T 5
490 s The relative frequency of pages with three errors on them was found to be %
20 A What number is missing from the table?
o HH II i (A} 3
80 100 120
20 40 80 ! ® 5
Speed (km/h) C) 8
‘ Dy 10
A driver is driving at 100 kmvh on a dry road. .
If the road was wet, by how much (in km/h) should the driver reduce speed in order o _ 19 The cost of hiring a private car is $4, plus a charge of 34 per kilometre.
ing distance? '
keep the same slopping dista A passenger hired this car and was charged a total cost of §5,
(ay 20 How many kilometres did the passenger travel in the car?
B) 25 :
' ' D-H H-D
© 30 Ay ab-H (B) —(= (© d2-H) O —
o 75 ‘
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20 A trench is to be dug for laying water pipes underground as shown in the diagram.

Ground level

po -
~~

a<=-----=

French for water pipe

When a 30 metre trench is dug, the trench is T metre vertically underground as shown.

!f the trench needs to be dug a further 120 metres to accommodate the water pipe, what
is the vertical depth needed represented by X in the diagram? :

(A) 3m

B) 4m
(©) 5m
D) 6m

11
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Section IT

80 marks

Attempt Quéstions 21-24

Allow about 1 hour and 30 minutes for this section

Answer the questions in fiie spaces provided.

Your responses should include relevant mathematical reasoning andfor calculations.

Question 21 (20 marks) Begin this question on a new page

@)  Simplify2p—5p(1~p).

() A box contains red, yellow and blue beads in the ratio 5:4:3.
There are 60 yellow beads in the bex.

(i) Whatis the total number of beads in the box?

Marks

(ii) A berd is randomiy selected from the ht;x.

What is the probability that it is either yellow or blue?

() A cube has a volume of 512 ent’.

‘What is the surface area of this cube?

Question 21 continues on the next page

i2
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Question 21 (continued) Marks

(d) Richard is paid at the rate of $40 per 1000 store brochures delivered to peeple’s homes.
On a wet day he is paid an extra 15%. : :

On one wet day, Richard delivered 1800 brochures.

How much should he be paid for his deliveries? 2
. S5k
(&) Ifk=28 andj=40, determine the value of ’4—] . 2

(f) The following table shows a linear relationship between £ and (.

P 4 5 6 7

Q 5 1 -3 —7 —479
(1) Write down an equation representing this linear relationship. 2
(iiy What value is missing from the table? 3

(g) Thenumbers 6, 7, 8 and 9 are written on separate identical cards, which are then placed
face down next to each other at random on a table,

What is the probability that when the four cards are turned over, the numbers from left
to right are 9, 6, 5, 87 3

End of Question 21

13
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Question 22 (20 marks} Begin this question on a new page

(a) Anen

closure is being constructed for rare butterflies.

Marks

The enclosure is a prism, with the front and back ends consisting of a semi-circle on top
of a rectangle, as shown in the sketch.

®

(i)

(iii)

(v

ES
th
E

€

Find the velume of the enclosure correct fo the nearest cubic metre.

Water mist is sprayed into the enclosure af a rate of 3 mL/m® every 4 hours,

‘What quantity of mist (to the nearest litre) is sprayed into the enclosure every

day?

Question 22 continues on the next page

14
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Question 22 (continued} _ Marks

(b)  The average number of fimes a website selling concert tickets, was accessed throughout
a 24 hour period, is shown on this radar chart, )

Website hits

4142 4241
10-19 10,000[ 1-2

Question 22 continues on the next page

15
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Question 22 (continued) : ’ Marks

(c) Under special circurnstances, the Government supplements a person’s income with
allowances.

The following table shows the maxitmum payment per fortnight for some of these

circumstances.
Maximum payment
Ifyou are per forinight

S_qule with no children, 18 years and over and $265.00
living at home

Single with no children 18 years and over and $402.70
required {o live away from home )

Single with children . $527.50

These allowances are reduced by an amount depending on any income a person receives
from employment that exceeds set limits. The following table shows these reductions.

~

Income limits per

fortnight Reduction
Job seeker 862 — 3250 50 cents in the dollar
Above $250 60 cents in the doliar
Studenis and Australian $236 3316 50 cents in the dollar
apprentices Above $316 60 cents in the dollar

(@) Kyleis 19 years old, has no children and lives at home. He works as an apprentice

carpenter and is paid an income of $380 per fortnight from his employer.

Use the above tables to calculate tie total income Kyle receives each fortnight. 3

(il Kyle is required fo live away from home for the second year of his apprenticeship.
The income from his apprenticeship increases to $425 per forinight.

What is the difference in Kyle’s total income compared to when he was living at

home?

Question 22 confinues on the next page

16
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Mark i Question 23 (20 marks) Begin this question on a new page : Marks
arks .

Questioﬁ 22 (continued}
(@ A point P onlevel ground,‘ is 8 metres from the base B-of a brick wall 4B,
The distance from the top T of a lamp, standing on the wall, to P, is 8.8 m.

T

e
~3y

P ground level

(i Calculate the angle of elevation of T from P, to the nearest degree.

(i) The angle of depression from the top A of the wall to P is 26,

Calculate the height (correct to gne decimal place) of the lamp above the top of
the brick wall,

End of Question 22

17

(8} A car was purchased new for $40 000,
Using the straight line method of depreciation, the car depreciates by 12.5% per year.

Using the declining balance method of depreciation, the car depreciates by 20% per
year, ) '

The following table shows some salvage values of the car over § years, using both of
these methods of depreciation.

Year 0 i | 2 3 4 5 6 7]
et
s"a'g';;;“e 40000 30000 | 25000 | 20000 | 15000 | 10000 5000
Declining -
Balance | 40000 | 32000 | 25600 16384 | 13107 | 10486 | 8389
{20%)

(i}  Complete the table by caleulating and writing in the TWO missing values.

(i) The graphs of the salvage value of the car using both methods of depreciation are

shown on the diagram below.

Depreciation of a motor vehicle

35000 -
30000 \\
SN

\T““\-\

w

Ivage Value {5)
288

Sa

5 f
f
i

3 Years(n}4 5 6 7

Write down the equation of both graphs.

Declining balance method;

Question 23(a) continues on the next page

18




Question 23(a) (continued)

(iii)

(i)

o

v

{vii)

STUDENT NUMBER/NAME: .....vvvvrrirrrcnneenenen

Give ONE difference between vsing the two methods of depn:ciation-on the value
of the car over the 8-year period.

What is the difference in the loss in vakue of the car after 3 years when comparing
the use of both depreciation methods?

After approximately how many years will the declining balance method continue
to value the car higher than the salvage value method?

T A T TP TP TP TN

The straight line method of depreciation suggests the car Joses $25 000 in value
over a longer period of time than the declining balance method.

Approximately how much longer?

Explain why the use of the declining balance method will mean the car will
always have some value. .

Question 23 continues on the next page

19
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Question 23 (continued)

times for a number of flights at an airport one day.

Marks

(b)  The cumulative f'rei]uency histogram and polygon below shows the delayed departure

35
80
75
70

65 — 1 i
o ) —
55 5

50 / -

_Cumulative frequency
F-
t
M

5 15 25 35 45 55
Delayed Time {mins} ’

(i) How many flights had their delayed times recorded?

(it} What delayed time represents the mod'e?

End of Question 23

20
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. Question 24 (20 marks) Begin this question on a new page s Marks - Question 24(a) {continued) Marks

@ A manufaeturer produces office fumiture including executive (£) and deluxe (D) desks.
: (i) The graph of equation (1) has been drawn on the grid below. On the same grid,

During a particular month, a number of desks were produced according to the following draw the graph of equation (2) and label it. 3
linear equations. : .
. D
D+E=100 ......... ) '1{}0/::#;
D=E+40 e (%) : % % é{
: ﬁ i e
'(i) In terms of the numbers of each type of desk produced, explain what the TWO . 80 Y
equations mean, 2 70 i : i
[ R : : 5
60 : :
2 Y DU P TS et e i
50 = t . T
. Question 24(a) continues on the next page ' 40 i i
. |5t %’“” H D+E=IDD
I " R 3
30 Bl £ i /i
20 {24 e ;%i
cinlid e
10 i H t;ﬁ;% 51
0 TN,
0 10 20 30 40 50 60 70 8) 9CG 100

(iii) Use the two graphs to determine how many of each type of desk the manufacturer
produced during the month, ‘ 2

Executive desks! ....cocccciiiiieninns rrertenerraneaatts

Deluxe desks: .

(iv) It costs $525 to produce each executive desk and $780 to produce each deluxe
- desk,

What were the tatal costs to produce the desks during the month? 1

Question 24(x) continues on the next page

21 : 22
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STUDENT NUMBER/NAME: ....cooiiiiiviiicannn
uestion 24() {continued) Mark ' : -
Q @ ) s Question 24 (continued) Marks
(¥} The executive desks are sold for $950 each and the deluxe desks are sold for . . .
$1400 cach. ) (b) Bach layer of glass reduces the amount of light from a source onto an object by 12%.
Wd_te an equation that would give the total profit (P) made from selling the desks s Light source
during any month. 2 -
---------- Glass layers
.................. :\
, Object «iﬂ»
Question 24 continues on the next page . . _ V«
Determine the percentage loss of light from the source through the three layers of glass
as shown. 2
: Question 24 continues on the next page
23

24
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Question 24 (continued) Marks
(¢} Inthe rectangle PRTU, PR =3xand PU = 2.
S is the point, so that RS = ST, Q is the point, so that PO =x and gR = 2x.
P x &) 2x R
2y s
U T
() Write a simplified expression for the area of the rectangle PRTU. _ i
(i} Write a simplified expression for the area of triangle STU. 1
-7x
(iif) Show that the area of the shaded quadrilateral QRS can be expressed as —— 3
(iv} Ifx=4 andy =35, what fraction of the area of the rectangle is the area of the
quadrilateral? 3

End of paper .. -n

Maithematics General =

FORMULAE AND DATA SHEET

Financial Mathematics
Simple interest
I=Prn

is inftia) amount
r  isinterest rate per pericd, expressed as
a decimal ’
#  is number of paricds

GCompound interest
A=P{1+r)
A isfinal amount

P isinitial amount

r Isinterest rate per period, expressed as
a decimal
1 is number of compounding pericds

Prosent value and future value

PV = FV'H, Fv=PV(1+r)
(] + r)
r isinterest ate per period, expressed as
a decimal

n s number of compounding periods

Stralght-line method of depreciation

. §=V,~Dn
Is salvage valus of asset after st periods
is initial value of asset

is amount of depreciation per period
is number of pariods

BN RS

Declining-batance method of depreciation
n
§=Y,(1-7)

S Is salvage value of asset after # periods

Y, Isinitlal value of asset-

r s depreciation rate per period, expressed as
a decimal

n - is number of peridds*‘

Data Analysis

Mean of a sample .
sum of scores

¥ e
number of scores

Z-score
For any score X,

X is mean
§  is standard deviation
Outlier{s)
score(s) less than @, — 1.5 X IQR
or

score{s) more than @y, + 1.5 X IOR

O, islowsr quartile
Qy s uppar quartile
IQR  is interquartile range

‘Least-squares line of best fit

y = gradient x x + y-intercept

standard deviation of y scores
standard deviation of x scores

gradient = r %

y-intercept = ¥ — (gradient x )

r ia correlation coefficient
X is mean of x scores
_ ¥ is mean of y scores
Normal distribution
« approximately 68% of scores have
z-scores between —1 and 1
+  approximately 85% of scores have
z-scores between ~2 and 2

»  approximately 99.7% of scores have
z-scorss between -2 and 3

ANy




Spherical Geometry Surface Area

NSW INDEPENDENT TRIAL EXAMS - 2014

" i Sph
Croumferenceofacicle phete et MATHEMATICS GENERAL PRELIMINARY EXAM
C=21r o C=#D = dar MARKING GUIDELINES
r isradius r isradius ’

D is diamefer

Section 1

Closed cyllnderl Question | Answer | Assessed Outcome and

Arc length of a circle A=2rr + 2rh 1. c DS2, MGP-2__ 2
6 2 D MM2, MGP4 2

= _2 I i i)
=30 y o feradus , 3. C AMI, MGP-3 5
h s perpondicular height 3 B PBL MGP-10 . b)
ro s radios 5. [ EM1, MGP-6 3
@  is number of degrees in central angle Volume 6. C D83, MGP-7 . 3
. Prism or cylinder 7. A MMS3, MGP-4 3
Radius of Earth 8. A AM2, MGP-2 4
(taken as) 6400 km V= Ak 9, D FM2, MGP-3 4
. A Isarea of base }(1} g }5‘3}‘123» 3131(331;68 :

me differences N . L . I. -

I dicular height 2
For calculation of time differencas using longitude: bt per?en tcularely 12, A D81, MGP-7 _ 4
15' = 1 hour time difference ’ Pyramid or cone iz ]C; gg?:ﬁgﬁ? i
1 . A FM2, MGP-6 5

Area == 2
: Ve gah 16. B FSD-3, MGP-2/5 4
Circle 17. B FSCo2, MGP-5 5
A= A is area of base 18. C PB1, MGP-8 3
- I Is perpendicular haight 19. - B AM2, MGP-3 6
r is radius 20. B MM3, MGP-4 4]

: Volume and capacity E
Sector unit conversion: 1 m® = 1060 L
6 1 .
A=—=nr - -
360 Approximation Using Simpson’s Rule
. r  lsradius Aréa-

@ s number of degrees in central angle

Annulus
A= :r(# -

R s radius of outer circle
r s radius of inner circle

Trapezium
h

A=—lat+d

Sla+?)
h s perpendicular helght .
a and b are tha lengths of the parallel sldes

Area of land and catchment areas
unit converston: 1 ha = 10 000 m?

e —:-(a‘f +4d +dl)

& is disiance betwsen successive measurements
df is first measurement

d_  is middla measurement

d; s last measurement

V= g{AL +4A, + AR}

b is distance between successive measurements
A; ls area of left end

A,y s area of middle

Ap isarea of right end

NSW Independent Trial Exams 2014 — HSC Mathemalics General Yr 11 Prelim Examination: Marking Criteria - Page 1




Section I

Question 21
Part | Answer Mark gutcome . Band
: ssessed
(&) |2p-5p+ 5? 1 AMIL, MGP-2 2
=-3p+5p 1
()i [60+4=15 L MMI1, MGP-5 2
Red: 5% 15=175, Yellow: 1{) Blue: 3 x 15=45
Total = 180 1
(YD) | Prob(y or B) = 2240 % 2 | PB1, MGP-5/8 2
() " | Bach edge of cube has length 512 =8 cm 1 MM2, MGP-4 3
Surfacea.rea:GXSXS 1
‘=384 e’
(d) | Wetdayratei :s 846/1 0000 pamphlets delivered 1 PM1, MM1, 3
Total paid = o X 1800 1 MGP-2/6
=$§82.80
(0) 5xg 40 2 AMI, MGP-2 3
\] 140 \l: oz
D6 | p=-4F+21 Z | AM2, MGP2R !
()i "479 —4P+21 1 - AM2, MGP-3 5
4P =121 + 479
4P =500 1
P=125 1
(g) { Thereared %3 x 2x 1 ways that the numbers 1 PBI, MGP-8 5
can appeat, (i.c., 24 ways) 1
1

Prob of 9, 6, 5, 8 =

NSW Independent Trial Exams 2014 — HSC Mathematics General Yr 11 Prelim Examination: Marking Criteria - Page 2

Question 22
Part | Answer Mark Outcome Band
Assessed
@D |85m+2=425m 1 MM2, MGP4 2
(a)(ii) | Area=(0.5 x 7% 4257 1 MMi72, 3
=66.6 m’ -1 MGP-4
(i) | V=AH 1 MMIA2, 2
=66.6% 10 MGP-4
= 666 m*
(a)(iv) | 666% 3% 6 =11988 mL 1 MM1/2, 4
=11988L MGP4
=121 1
)y | 8pm — Spm: 4000, Ipm — 10pm: 3000 1 DS2, MGP-2%/5 2
Tatal: 7000 -
(D) | 2—dpm I | Ds2, MGP-2/5 2
{b)(iii) | Most peaple accessed the site between the hours DS2, MGP-2/5 3
of @ am and 6 pm 1
(€)@ | Maximum payment from Govt is $265/fortnight 17 | FMIL, MGP-2/6 4
This is reduced by S((380 — 316) x 0.60
= $§38.40 1
So total income = $380 + $(265 — 38.40)
= §606.60 1
{c)(ii) | New Govt allowance = §402.50 ) EM1, MGP-2/6 4
This reduces by ${425 —316) x 0.60 1
= §65.40
New total income = 8445 + (402.70 — 65.40)
= $750.30 1
Difference fmm ]iving at home is §152.70 1
@A | Cos< TPR =7 = 0.8163 1 MMS3, MGP4 4
<TPB = 35° 1
(d)(iD) | Using Pythagoras’ Theorem: 'I“B2 =988 MM3, 5
TB =5.66 m 1 MGP4,
MGPS

In triangle APB, Tan 26° =22
AB = 8 x Tan26°

=3.9m

Hence Iamp post =5, 66 3.9
= 1,8 m above the wall {1 d.p.}

NSW Independent Trial Exams 2014 — HSC Mathematics Genernl Yr 11 Prefin: Examination: Marking Criferia - Page 3




Question 24

Question 23
Qufcome
Part | Answer Mark Assessed Band
(a)(i) | $3500 for straight line methed. 1 FSDr-2, 4
Declining balance method: § = 40 000(1 — 0.2)° MGP-2,
=40 000(0.8)* - 1 MGP-3 5
=520 480 1
(a)(ii) | Straight line: S =$40 0060 — $5600n 1 FSDr-2, 5
Declining batance: S = $40 000(0.8)" - 2 MGP-2
(a)(iii) | The declining halance method will value the 1 FSDr-2, 2
car less than the straight line method up to 6 MGP-8
- years :
(a)(iv) [ Ifthe caris valued at $25 000, it has lost: I FSDr-2, 3
$15 000 by the straight line method and MGP-§
$20 000 by the declining balance method
Hence there is a difference of $5000 in loss 1
(Q)v) | 6 years 1 FSDr-2, 3
MGP-3
(a}(vi} | Value ofthe car is $15 000 1 ESDr-2, 4
This is 5 years by the straight line method and MGP-3
4.5 years by the declining balance methed
Hence, there is ¢ months longer period of
valuing the car at $15 000 .
(2)(vii) | The graph will never touch the horizontal axis i FSDr-2, 6
since there is no value of » for which 40 000{0.8)" MGP-10
=0
®G |80 1 DS2, MGP-2, 3
MGP
(i) | 35 mins (frequency is 70— 40 = 30) 1 D52, 4
MGP-7
(b)(iii} | Lower quartile approx. 7.5mins 1 DS2, 5
Upper quartile approx, 37 mins 1 MGP-7
LQ.R=37-75
=29, 5mins. (allow -+/~1.5) 1
@}(iv) | Mean=[(5 x 25)+ (15 x 10)- 3 DS2, 5
(25 %X 5)+(B35x 300+ (5 x5+ MGP-8
(55 x 5)] + 80
= 1950 + 80
=24 mins

QOutcome

Part | Answer Mark Assessed Band

(a)(iy { Equation (1): The total number of desks : AM2, MGP-2 5
produced is 180 1 MGP-3
Equation (2): There are 40 more deluxe desks MGP-10
than executive desks produced during the
month 1 :

(a)(il) | See attached sheet 3 AM2, MGP-3 6

(a)(iii) | The point of infersection gives E=30,D =70 2 (AM2, MGP-3 5

(a)(iv) | Total cost=(30x $525) + (70 x §780) 1 AM2, MGP-9 4
=37 350

@) V) § P=(950-525)E + (1400 — 780)b 2 AM?2, MGP-2 G
SP = 425E + 620D

(b) | Amount of light passing through 3 layers of glass MM]1, MGP-5 6
is: 0.88 x 0.88 x 0.88=0.6815 :
=68.15% i
Loss of light through the Iayers= 31.85% 1

{c)(i) | 3xx2Zy=6xy 1 AMI, MGP-3 4

@) [Lx gy x p=32 1 AM1, MGP-3 4
2 Y=

(c)(iii) | Area of rectangle — area of 2 triangles AMI1, MM2, &

=6y 2422 x2y) 1 MGP-3,
= 6xy ~ (3% +xy)
—g -5 1
- 12;y4§xy
~Txy z
T2 1 .

(eHiv) [ Letx=4,y=5 AMI, MM2 6
Area of quad QRSU = 1? = Z%xs =70 MGP-4
Arearectang[e=6xy=7§3><t§7x 5=120 }

Required fraction =0 = 1
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Solution to Qu 24(a)(ii)

D
A ya D=E+40

160

90 B

80

70

60

50

40 L D+ £ = 100

30

20

10 3
t i

f: 5
10 20 30 40 50 60 70 80 90 100

The graphs intersect at (30, 70).

Hence, 30 exccutive desks and 70 deluxe desks were sold during the month.
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